=

poris (A0

. fla+h) — fla)
S{a)=lim )
o RE & E
® i
pots | | e i&%ﬂ%:
{5
flx)=1x]

ROy

(f-9)=f-g+f-¢g

(feg-h=f-g-h+f-g-h+f-g-h

=3

—
N}
=

y=xsinx
y' =sinx + xcos x

y=(x+2)(x—1)(x—5)

y=(x—=1)(x=5)+(x+2)x—5)+(x+2(x—1)
=x2—6x+5+x2—3x—10+x2+x—2
=3x2—8x—7

DMWY

(-5 e (-t

xZ
~x+3
, 2x(x+3)—x?
T (2437
_ x"46x
(2

y

BB Oy

¥y =(4—3x)p
y' =54 —3x)%4—3x)
— _15(4—3x)!

=ZABEROEEK

-

(sinx) =cosx

(cosx) =—sinx
(tanx) = 12
cos?x
SHEEE D EREE
<logx>'=%

, 1
(logax> =W
RS ERE D E BT
(e") =e*

(@*) =a*loga

FHE D EE

-

flx) BN a<x<b T AHED & &

(a<c<b)

A C

&
Sl = 1 ~1<x<2 THEYTfE
f(g)—_(}jl_)1> =fc) (a<c<b) #Whl=T ¢ BEE
e DHERR
©) Iin(’)l(l—i—x)%:e




